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PREVIOUS KNOWLEDGE TEST []_DM

Two triangles are similar if either of the following three criterion’s are satisfied: EDUCATIONAL GROUP

1.AAA similarity Criterion. If two triangles are equiangular, then they are similar.

2.Corollary(AA similarity). If two angles of one triangle are respectively equal to two
angles of another triangle, then the two triangles are similar.

3.SSS Similarity Criterion. If the corresponding sides of two triangles are
proportional, then they are similar.

4.SAS Similarity Criterion. If in two triangles, one pair of corresponding sides are
proportional and the included angles are equal, then the two triangles are similar.
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11.Students will be able to know the Criteria for similarity of triangles.
(AAA, SSS, & SAS)

2.Students will be able to prove problems involving AAA,SSS, & SAS
similarity criteria.
3.Students will be able to solve problems based on similarity of triangles.



1.Diagonals AC and BD of a trapezium ABCD with AB | | DC intersect each other at the point

O. Using a similarity criterion for two triangles, show that OA /OC = OB /OD UDM
&“i
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1.Diagonals AC and BD of a trapezium ABCD with AB | | DC intersect each other at the point

O. Using a similarity criterion for two triangles, show that OA /OC = OB /OD UDM i
“w

Sol. Given: Diagonals AC and BD intersect at O. EDUCATIONAL GROUP
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Proof: In AAOB and ACOD

L1 =22
L3 =24 [Alternate angles]
AAOB ~ ACOD [AA]
- OA _ OB
ocC OD

[Corresponding sides of similar triangles]



2.S and T are points on sides PR and QR of A PQR such that £ P = £ RTS. Show that

A RPQ ™ A RTS.
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2.S and T are points on sides PR and QR of A PQR such that £ P = £ RTS. Show that

A RPQ ™~ A RTS.

Sol. In ARPQ and ARTS,

P
S
Q T R
/P = /RTS [Given]
ZR= /R [Common]

ARPQ ~ ARTS [AA]
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3.if AABE = A ACD, show that A ADE ~ A ABC. DMt
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3.if AABE = A ACD, show that A ADE ~ A ABC. UDM&«ﬁ
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A

B C
Sol. Given: AABE = AACD
To Prove: AADE ~ AABC
Proof: AABE = AACD
AB = AC and AE = AD

= ..% =1 ﬁrl =
AC ~ AE
In AADE and AABC,
AD _ AB [Proved above]
AE AC
LA=ZA [Common]

AADE ~ AABC [SAS]



4. In Fig. altitudes AD and CE of A ABC intersect each other at the point P. Show
that: (i) AAEP ~ A CDP (ii) AABD ~ A CBE (iii) AAEP ~ AADB (iv) APDC ~ A

BEC
0DN=
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4. In Fig. altitudes AD and CE of A ABC intersect each other at the point P. Show
that: (i) AAEP ~ A CDP (ii) AABD ~ A CBE (iii) AAEP ~ AADB (iv) APDC ~ A

BEC 0DM=4
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Sol. Given: AD and CE are altitudes of the AABC S— car5ing your Tomerronl
(i) To Prove: AAEP ~ ACDP ‘ C
Proof: In AAEP and ACDP,
ZAEP = ZCDP [Each 90°]
ZAPE = ZCPD [Vertically opposite angles] D
AAEP ~ ACDP [AA]
(if) In AABD and ACBE,
ZADB = ZCEB [Each 90°] P
ZABD = ZCBE [Common]
AABD ~ ACBE [AA] A —
(i) In A AEP and AADB, E B
ZAEP = ZADB [Each 90°]
LA = LA [Common)]
. AAEP~ AADB [AA]
(v) In APDC and ABEC,
ZPDC = ZBEC [Each 90°]
ZPCD = ZBCE [Common]

APDC ~ ABEC [AA]



5.E is a point on the side AD produced of a parallelogram ABCD and BE intersects

CD at F Show that A ABE ~ A CFB..
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5.E is a point on the side AD produced of a parallelogram ABCD and BE intersects

CD at FE Show that A ABE ~ A CFB.

Sol. In AABE and ACFB,

L1 =/2
L4 =13 [Alternate angles]

= AABE ~ ACFB [AA]

0DM=t»

EDUCATIONAL GROUP

I hanging your



0DM=A

EDUCATIONAL GROUP

Y~ hanging your Tomormow, A

HOME ASSIGNMENT Ex6.3Q3 toQ 38
AHA

1. Sides AB and BC and median AD of a triangle ABC are respectively proportional to sides

PQ and QR and median PM of A PQR. Show that A ABC ~ A PQR.
2. If PS is the bisector of 2 QPR of A PQR. Prove that QS/ PQ =SR /PR -.
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